

Serpil Halıcı; Zehra Betül Gür

On some q -generalization of Super Catalan numbers

Mathematica Bohemica, Vol. 151 (2026), No. 3, 495–504

Persistent URL: <http://dml.cz/dmlcz/153719>

Terms of use:

© Institute of Mathematics CAS, 2026

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

ON SOME q -GENERALIZATION OF SUPER CATALAN NUMBERS

SERPİL HALICI, ZEHRA BETÜL GÜR

Received December 17, 2024. Published online August 14, 2025.

Communicated by Carlos Alexis Gómez Ruíz

Abstract. The aim of this paper is to generalize the Super Catalan numbers $S(m, n)$ and some properties of them by virtue of q -Calculus. For this purpose, we focus on formulating several weighted sums and different representations of the Super Catalan number sequence. Moreover, we derive some q -identities involving the q -Super Catalan numbers as a generalization of the results obtained for the numbers $S(m, n)$.

Keywords: binomial coefficient; Catalan numbers, Super Catalan numbers, q -identity

MSC 2020: 11B65, 05A10, 11B83

1. INTRODUCTION

The sequence of Catalan numbers occurs in many counting problems in number theory and graph theory. It is known that Dyck words, ballot sequences, well formed sequence of parentheses, 2-lines standard-tableaux, ordered and binary trees are counted by Catalan numbers due to their structures directly related to the central binomial coefficients. Some of the important properties and uses of them can be seen in the references [2], [7], [8].

For $C_0 = 1$, n th Catalan number is defined by

$$(1.1) \quad C_n = \frac{1}{n+1} \binom{2n}{n},$$

where

$$(1.2) \quad \binom{2n}{n} = \frac{(2n)!}{n!n!}$$

is the central binomial coefficient. Catalan numbers are listed as an integer sequence

$$\{C_n\}_{n \geq 0} = \{1, 1, 2, 5, 14, 42, 132, 429, 1430, \dots\}.$$

The recursive definition of the Catalan numbers is given by

$$(1.3) \quad C_n = \frac{4n-2}{n+1}C_{n-1},$$

for $n \geq 1$ (see [12]). Several generalizations of the Catalan numbers and their studies can be found in the literature such as [10], [16].

In the present paper, we investigate the number $S(m, n)$ that is known as a generalization of C_n and defined by

$$(1.4) \quad S(m, n) = \frac{(2m)!(2n)!}{m!n!(m+n)!}.$$

These numbers are referred to as Super Catalan numbers, where $m, n \geq 0$ and $S(0, 0) = 1$ in [6]. It is clearly seen from definition (1.4) that $S(n, 1) = S(1, n) = 2C_n$. The numbers $S(m, n)$ are given in the following table.

m/n	0	1	2	3	4	5	6	7	...
0	1	2	6	20	70	252	924	3432	...
1	2	2	4	10	28	84	264	858	...
2	6	4	6	12	28	72	198	572	...
3	20	10	12	20	40	90	220	572	...
4	70	28	28	40	70	140	308	728	...
5	252	84	72	90	140	252	504	1092	...
6	924	264	198	220	308	504	924	1848	...
7	3432	858	572	572	728	1092	1848	3432	...
$\vdots$	$\vdots$	$\vdots$	$\vdots$	$\vdots$	$\vdots$	$\vdots$	$\vdots$	$\vdots$	$\ddots$

Table 1. $S(m, n)$ Super Catalan numbers.

The following facts can be observed from the table:

$$(1.5) \quad S(n+1, n) = 2 \binom{2n}{n},$$

$$(1.6) \quad S(n+2, n) = 2 \binom{2n}{n} \left(2 + \frac{1}{n+1} \right),$$

$$(1.7) \quad C_n = \frac{S(n+2, n) - S(n+1, n)}{2(n+2)}.$$

From definition (1.4), the following recursive definition can be clearly given:

$$(1.8) \quad S(m, n) = \frac{4n-2}{m+n} S(m, n-1).$$

A different recurrence relation for $S(m, n)$ was given by Dan Rubenstein as

$$(1.9) \quad 4S(m, n) = S(m+1, n) + S(m, n+1).$$

The studies [3], [5], [8], [13], [14], [15] help to understand the content of the Super Catalan numbers more specifically. For example, in [3], Chen and Wang gave an interpretation for the Super Catalan numbers $S(m, m+s)$, for $s \geq 3$.

In [9], q -analogue of an integer n is defined by the formula

$$(1.10) \quad [n]_q = \frac{1-q^n}{1-q} = \sum_{k=0}^{n-1} q^k,$$

where $0 < q < 1$. Note that q -Calculus is based on the fact that

$$(1.11) \quad \lim_{q \rightarrow 1^-} [n]_q = n$$

and this property helps us to reduce q -identities to classical Calculus. Meanwhile q -binomial coefficients are defined by

$$\begin{bmatrix} n \\ k \end{bmatrix}_q = \frac{[n]_q!}{[k]_q![n-k]_q!} = \frac{(q; q)_n}{(q; q)_k(q; q)_{n-k}},$$

where

$$(a; q)_n = \prod_{k=0}^{n-1} (1 - aq^k)$$

is the q -Pochhammer symbol [11]. In [1], [17], q -Super Catalan numbers are introduced as

$$(1.12) \quad S_q(m, n) = \frac{[2m]_q![2n]_q!}{[m]_q![n]_q![m+n]_q!}.$$

The following recurrence relation follows from definition (1.12):

$$(1.13) \quad S_q(m, n) = (1 + q^n) \frac{[2n-1]_q}{[m+n]_q} S_q(m, n-1).$$

In [17], for $s, m \geq 0$, Warnaar and Zudilin proved that $S_q(m, n)$ is a polynomial with non-negative integer coefficients. In [1], Allen deduced that the q -analogue of Dan Rubenstein's recurrence is

$$(1.14) \quad (1 + q^{n-m})S_q(m, n) = \frac{q^{n-m}}{1 + q^{m+1}} S_q(m+1, n) + \frac{1}{1 + q^{n+1}} S_q(m, n+1).$$

From definition (1.12), one can obtain that

$$(1.15) \quad S_q(1, n) = (1 + q)C_n(q),$$

where

$$(1.16) \quad C_n(q) = \frac{1}{[n+1]_q} \left[\begin{matrix} 2n \\ n \end{matrix} \right]_q, \quad C_0(q) = 1$$

is the q -Catalan number introduced by Förlinger and Hofbauer [4].

In this current study, we formulate some weighted sums involving the terms of $S(m, n)$ and C_n . In Section 3, we derive the q -forms of these identities as a generalization of the results of the Super Catalan numbers given in Section 2.

2. SOME FORMULAS RELATED TO THE NUMBER $S(m, n)$

In this section, we establish some formulas that give the relations between central binomial coefficients and Super Catalan numbers.

In the following theorem, we deduce a new representation for the Super Catalan numbers.

Theorem 2.1. *For integers $m \geq 0$ and $n \geq 1$ we have*

$$(2.1) \quad S(m, n) = 2C_m \frac{(2n-1)!}{(m+2)^{(n-1)}(n-1)!},$$

where $x^{(n)} = x(x+1)(x+2) \dots (x+n-1)$ is the rising factorial.

Proof. By applying the recursive relation (1.8) to $S(m, n)$, n times, we have

$$S(m, n) = \frac{(4n-2)}{m+n} \frac{(4(n-1)-2)}{m+n-1} \frac{(4(n-2)-2)}{m+n-2} \dots \frac{(4-2)}{m+1} S(m, 0).$$

Since $S(m, 0) = \binom{2m}{m}$, we obtain

$$\begin{aligned} S(m, n) &= \binom{2m}{m} \frac{(4n-2)(4n-6) \dots 2}{(m+1)(m+2) \dots (m+n)} \\ &= 2^n \frac{\binom{2m}{m}}{m+1} \frac{(2n-1)(2n-3) \dots 1}{(m+2) \dots (m+n)} \\ &= \frac{2^n C_m}{(m+2)^{(n-1)}} [(2n-1)(2n-3) \dots 1]. \end{aligned}$$

Then, by some elementary operations, we conclude that

$$S(m, n) = \frac{2^n C_m}{(m+2)^{(n-1)}} \frac{(2n-1)!}{2^{n-1}(n-1)!}.$$

Hence, the proof is done. □

In the next theorem, we derive a recurrence-like formula for the Super Catalan numbers.

Theorem 2.2. *For integers $m \geq 0$ and $n \geq 1$ we have*

$$(2.2) \quad \sum_{k=0}^{n-1} \frac{3k-m+1}{k+m+1} S(m, k) = S(m, n) - \binom{2m}{m}.$$

Proof. From recurrence (1.9) we can write

$$3 \sum_{k=0}^n S(m, k) = \sum_{k=0}^n S(m+1, k) - \sum_{k=0}^n (S(m, k) - S(m, k+1)).$$

Since

$$\sum_{k=0}^n (S(m, k) - S(m, k+1))$$

is a telescopic sum, we get

$$3 \sum_{k=0}^n S(m, k) = \sum_{k=0}^n S(m+1, k) + S(m, 0) - S(m, n+1).$$

Then, we use the formula $S(m+1, k) = 2(2m+1)S(m, k)/(m+k+1)$ to get that

$$\begin{aligned} S(m, n+1) &= \binom{2m}{m} + \sum_{k=0}^n \left(2 \frac{2m+1}{m+k+1} - 3 \right) S(m, k) \\ &= \binom{2m}{m} + \sum_{k=0}^n \frac{3k-m+1}{k+m+1} S(m, k). \end{aligned}$$

By substituting $n-1$ for n , we complete the proof. $\square$

As a result of Theorem 2.2, we have the following corollary by taking $m=1$ and $m=n$ in formula (2.2), respectively.

Corollary 2.3. *For $n \geq 1$ we have*

$$(2.3) \quad C_n = 1 + \sum_{k=0}^{n-1} \frac{3k}{k+2} C_k$$

and

$$(2.4) \quad \sum_{k=0}^n \frac{3k-n+1}{k+n+1} S(n, k) = \binom{2n}{n}.$$

In the following theorem, we give a weighted summation formula for the Super Catalan numbers.

Theorem 2.4. *For $n \geq 1$ we have*

$$(2.5) \quad \sum_{k=1}^n \frac{4^{-k}}{n+k+1} S(n, k) = \frac{1}{2n+1} \left(C_n - 4^{-n} \binom{2n}{n} \right).$$

Proof. By making some necessary arrangements, we observe that

$$\sum_{k=1}^n 4^{-n-k} S(n, k) - \sum_{k=1}^n 4^{-n-k-1} S(n, k+1) = 4^{-n-1} S(n, 1) - 4^{-2n-1} S(n, n+1).$$

Then, by using recurrence (1.8), we get

$$\sum_{k=1}^n 4^{-k} \left(1 - \frac{k+1/2}{n+k+1} \right) S(n, k) = 4^{-1} S(n, 1) - 4^{-n-1} S(n, n+1).$$

Hence, we can write

$$\frac{2n+1}{2} \sum_{k=1}^n \frac{4^{-k}}{n+k+1} S(n, k) = 4^{-1} S(n, 1) - 4^{-n-1} S(n, n+1).$$

Using identity (1.5) in the last equation, we complete the proof. $\square$

3. SOME q -IDENTITIES INVOLVING THE NUMBER $S_q(m, n)$

In this section, we derive some identities for $S_q(m, n)$ via q -Calculus as a generalization of the results given in Section 2.

We give a recursive summation formula for $S_q(m, n)$ in the following theorem.

Theorem 3.1. *For $m, n \geq 1$ we have*

$$(3.1) \quad S_q(m, n) = q^{m+1} \sum_{k=0}^{n-1} \left(\frac{[3k-m+1]_q + [k]_q (q^{k-m} - 1)}{[k+m+1]_q} \right) S_q(m, k) + \left[\begin{matrix} 2m \\ m \end{matrix} \right]_q.$$

P r o o f. By observing

$$\sum_{k=1}^n S_q(m, k) + S_q(m, n+1) = \sum_{k=1}^{n+1} S_q(m, k) = \sum_{k=0}^n S_q(m, k+1)$$

and using the formula

$$S_q(m, k+1) = (1 + q^{k+1}) \frac{[2k+1]_q}{[m+k+1]_q} S_q(m, k),$$

we get

$$\sum_{k=0}^n S_q(m, k) - S_q(m, 0) + S_q(m, n+1) = \sum_{k=0}^n (1 + q^{k+1}) \frac{[2k+1]_q}{[m+k+1]_q} S_q(m, k).$$

Hence, we obtain

$$S_q(m, n+1) = \sum_{k=0}^n \left((1 + q^{k+1}) \frac{[2k+1]_q}{[m+k+1]_q} - 1 \right) S_q(m, k) + \left[\begin{matrix} 2m \\ m \end{matrix} \right]_q.$$

By some elementary operations, one can obtain that

$$(1 + q^{k+1}) \frac{[2k+1]_q}{[m+k+1]_q} - 1 = q^{m+1} \left(\frac{[3k-m+1]_q + [k]_q (q^{k-m} - 1)}{[m+k+1]_q} \right).$$

Substituting this into the last equation, we complete the proof. $\square$

As a result of identity (3.1), we have the following corollary.

Corollary 3.2. *For $m, n \geq 1$ we have*

$$(3.2) \quad C_n(q) = \sum_{k=0}^{n-1} q^{k+1} \left(\frac{[k]_q (q^{k+1} + q + 1)}{[k+2]_q} \right) C_k(q) + 1,$$

$$(3.3) \quad \left[\begin{matrix} 2n \\ n \end{matrix} \right]_q = \sum_{k=0}^n \left(\frac{[3k-n+1]_q + [k]_q (q^{k-n} - 1)}{[k+n+1]_q} \right) S_q(n, k).$$

P r o o f. By taking $m = 1$ and $m = n$ in formula (3.1), we get the desired results, respectively. $\square$

In the next theorem, we give a representation for $S_q(m, n)$ by using q -Catalan numbers.

Theorem 3.3. *For $s \geq 4$ we have*

(3.4)

$$S_q(m, m+s) = C_m(q)(-q^{m+s}; q^{-1})_{\lceil s/2 \rceil} \left(\prod_{k=\lceil s/2 \rceil}^{s-1} [2m+2k+1]_q \right) \left(\prod_{k=2}^{\lfloor s/2 \rfloor} \frac{1}{[m+k]_q} \right),$$

where $\lfloor n \rfloor$ and $\lceil n \rceil$ are the floor and ceiling function.

Proof. From the definition of $S_q(m, n)$ we can write

$$S_q(m, m+s) = \frac{[2m]_q!}{[m]_q! [m]_q! [m+1]_q} \frac{[2m+2s]_q [2m+2s-1]_q \dots [2m+s+1]_q}{[m+2]_q [m+3]_q \dots [m+s]_q}.$$

By using the formula $[2m]_q/[m]_q = 1 + q^m$, we have

$$\begin{aligned} S_q(m, m+s) &= C_m(q)(1+q^{m+s})(1+q^{m+s-1}) \dots (1+q^{m+s/2+1}) \\ &\quad \times \frac{[2m+2s-1]_q [2m+2s-2]_q \dots [2m+s+1]_q}{[m+2]_q [m+3]_q \dots [m+s/2]_q} \end{aligned}$$

and

$$\begin{aligned} S_q(m, m+s) &= C_m(q)(1+q^{m+s})(1+q^{m+s-1}) \dots (1+q^{m+(s+1)/2}) \\ &\quad \times \frac{[2m+2s-1]_q [2m+2s-2]_q \dots [2m+s+2]_q}{[m+2]_q [m+3]_q \dots [m+(s-1)/2]_q} \end{aligned}$$

for s even and odd, respectively. Combining the last two equations by using the floor and ceiling functions, we complete the proof. $\square$

Corollary 3.4. *For $s \geq 4$ we have*

$$(3.5) \quad S(m, m+s) = C_m 2^{\lceil s/2 \rceil} \left(\prod_{k=\lceil s/2 \rceil}^{s-1} (2m+2k+1) \right) \left(\prod_{k=2}^{\lfloor s/2 \rfloor} \frac{1}{m+k} \right).$$

Proof. From property (1.11) we clearly have

$$\begin{aligned} &\lim_{q \rightarrow 1^-} S_q(m, m+s) \\ &= \lim_{q \rightarrow 1^-} \left(C_m(q)(-q^{m+s}; q^{-1})_{\lceil s/2 \rceil} \left(\prod_{k=\lceil s/2 \rceil}^{s-1} [2m+2k+1]_q \right) \left(\prod_{k=2}^{\lfloor s/2 \rfloor} \frac{1}{[m+k]_q} \right) \right). \end{aligned}$$

Hence, we obtain

$$S(m, m+s) = C_m(-1^{m+s}; 1)_{\lceil s/2 \rceil} \left(\prod_{k=\lceil s/2 \rceil}^{s-1} 2m+2k+1 \right) \left(\prod_{k=2}^{\lfloor s/2 \rfloor} \frac{1}{m+k} \right).$$

Since

$$(-1; 1)_{\lceil s/2 \rceil} = \prod_{k=0}^{\lceil s/2 \rceil - 1} (1 + 1^k) = 2^{\lceil s/2 \rceil},$$

we get the desired result. $\square$

In the following theorem, we give two representations for $C_n(q)$ and $S_q(m, n)$ that are the q -analogues of (1.7) and (2.1), respectively.

Theorem 3.5. *For $m \geq 0$ and $n \geq 1$ we have the following:*

$$(3.6) \quad C_m(q) = \frac{S_q(m, m+2) - S_q(m, m+1) - (q-1) \begin{bmatrix} 2m \\ m \end{bmatrix}_q (q^{m+1} + [2m+4]_q)}{(q^{m+2} + 1)[m+2]_q},$$

$$(3.7) \quad S_q(m, n) = (1 + q^n) C_m(q) \frac{[2n-1]_q!}{[m+2]_q^{(n-1)} [n-1]_q!}.$$

Proof. To prove equation (3.6), we use definition (1.12) and write

$$\begin{aligned} S_q(k, k+2) - S_q(k, k+1) &= (q^{k+2} + 1) \left(q^{k+2} \begin{bmatrix} 2k \\ k \end{bmatrix}_q + [k+2]_q C_k(q) \right) \\ &\quad - (q^{k+1} + 1) \begin{bmatrix} 2k \\ k \end{bmatrix}_q \\ &= q^{k+1} \begin{bmatrix} 2k \\ k \end{bmatrix}_q (q^{k+3} - 1) + \begin{bmatrix} 2k \\ k \end{bmatrix}_q (q^{k+2} - 1) \\ &\quad + (q^{k+2} + 1)[k+2]_q C_k(q). \end{aligned}$$

Then, by making necessary operations, we get

$$\begin{aligned} (q^{k+2} + 1)[k+2]_q C_k(q) &= S_q(k, k+2) - S_q(k, k+1) \\ &\quad - (q-1) \begin{bmatrix} 2k \\ k \end{bmatrix}_q (q^{k+1}[k+3]_q + [k+2]_q). \end{aligned}$$

By using $q^{k+1}[k+3]_q + [k+2]_q = q^{k+1} + [2k+4]$, we get the desired result. To prove (3.7), we apply recursion (1.13) to $S_q(m, n)$ n times and we obtain

$$S_q(m, n) = C_m(q) \frac{\prod_{k=0}^{n-1} (1 + q^{n-k})}{[m+2]_q^{(n-1)}} \frac{[2n-1]_q [2n-2]_q [2n-3]_q \cdots [1]_q}{[2n-2]_q [2n-4]_q [2n-6]_q \cdots [2]_q}.$$

By using the property $[2(n-k)]_q = (1+q^{n-k})[n-k]_q$, we obtain from the last equation that

$$S_q(m, n) = C(m) \frac{\prod_{k=0}^{n-1} (1+q^{n-k})}{[m+2]_q^{(n-1)} [n-1]_q!} \frac{[2n-1]_q [2n-2]_q [2n-3]_q \dots [1]_q}{\prod_{k=1}^{n-1} (1+q^{n-k})}.$$

Since $\prod_{k=0}^{n-1} (1+q^{n-k}) = (1+q^n) \prod_{k=1}^{n-1} (1+q^{n-k})$, the proof is done. $\square$

References

- [1] *E. A. Allen*: Combinatorial Interpretations of Generalizations of Catalan Numbers and Ballot Numbers: Ph.D. Thesis. Carnegie Mellon University, Pittsburgh, 2014. MR
- [2] *N. Batır, H. Küçük, S. Sorgun*: Convolution identities involving the central binomial coefficients and Catalan numbers. *Trans. Comb.* **10** (2021), 225–238. zbl MR doi
- [3] *X. Chen, J. Wang*: The super Catalan numbers $S(m, m+s)$ for $s \geq 4$. Available at <https://arxiv.org/abs/1208.4196> (2012), 8 pages. doi
- [4] *J. Förlinger, J. Hofbauer*: q -Catalan numbers. *J. Comb. Theory, Ser. A* **40** (1985), 248–264. zbl MR doi
- [5] *E. Georgiadis, A. Munemasa, H. Tanaka*: A note on super Catalan numbers. *Interdiscip. Inf. Sci.* **18** (2012), 23–24. zbl MR doi
- [6] *I. M. Gessel*: Super ballot numbers. *J. Symb. Comput.* **14** (1992), 179–194. zbl MR doi
- [7] *P. Hajnal, G. V. Nagy*: A bijective proof of Shapiro’s Catalan convolution. *Electron. J. Comb.* **21** (2014), Article ID P2.42, 10 pages. zbl MR doi
- [8] *P. Hilton, J. Pedersen*: Catalan numbers, their generalization, and their uses. *Math. Intell.* **13** (1991), 64–75. zbl MR doi
- [9] *V. Kac, P. Cheung*: Quantum Calculus. Universitext. Springer, New York, 2002. zbl MR doi
- [10] *M. Khelifi, W. Chammam, B.-N. Guo*: Several identities and relations related to q -analogues of Pochhammer k -symbol with applications to Fuss-Catalan- Q_i numbers. *Afr. Mat.* **35** (2024), Article ID 21, 14 pages. zbl MR doi
- [11] *W. Koepf*: Hypergeometric Summation: An Algorithmic Approach to Summation and Special Function Identities. Advanced Lectures in Mathematics. Vieweg, Wiesbaden, 1998. zbl MR doi
- [12] *T. Koshy*: Catalan Numbers with Applications. Oxford University Press, Oxford, 2008. zbl MR doi
- [13] *K. Limanta*: An algebraic interpretation of the super Catalan numbers. *Bull. Aust. Math. Soc.* **109** (2024), 498–506. zbl MR doi
- [14] *K. Limanta, N. J. Wildberger*: Super Catalan numbers and Fourier summation over finite fields. Available at <https://arxiv.org/abs/2108.10191> (2021), 35 pages. doi
- [15] *J.-C. Liu*: Congruences on sums of super Catalan numbers. *Result. Math.* **73** (2018), Article ID 140, 8 pages. zbl MR doi
- [16] *N. Ömür, Z. B. Gür, S. Koparal*: Congruences with q -generalized Catalan numbers and q -harmonic numbers. *Hacet. J. Math. Stat.* **51** (2022), 712–724. zbl MR doi
- [17] *S. O. Warnaar, W. Zudilin*: A q -rious positivity. *Aequationes Math.* **81** (2011), 177–183. zbl MR doi

Authors’ address: Serpil Halıcı, Zehra Betül Gür (corresponding author), Department of Mathematics, Pamukkale University, 20070 Denizli, Turkey, e-mail: shalici@pau.edu.tr, gurbetul35@gmail.com.